Addition and Subtraction of Money J

A. Choose the correct answer:

1. What is X35.50 + X12.25?
a) 47.00 b) X47.75
c) 245.25 d) 248.50
2. If you buy a toy for X75.50 and pay X100, how much will you get back?
a) £24.00 b) £25.50
c) 223.50 d) 226.50
3. The total of X50.75 and %49.25 is
a) £99.00 b) 100.00
c) 101.00 d) 100.50
4. Subtract X42.60 from X65.00
a) £23.60 b) 221.40
c) T22.40 d) 224.50
5. You have %90.00. After buying a book for X65.50, how much is left?
a) X24.50 b) X25.50
c) X23.00 d) X22.50

B. Write the Missing Terms to Complete the Sentences:
1.X13.25+%X2450=__
2.%40.00 -%18.75=%____
3.%60.60 +X14.40=%
4.%100-%99.50=%__
5.X75.25-%50.25=X

C. Mark each sentence with a True (&) or False (X):
1.X5.50 +X2.25 =X7.75

2.X100 -X25.25 =X75.25
3.%45 +X15=%50
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4.X35.10 - X10.10 =X25.00
5.%20.25 +X20.25 =X40.50

D. Figure out the answers to these questions:
1. Rani has X125.50. She spends X75.75. How much is left with her?

2. You bought chocolates for X12.50 and a drink for X18.25. What is the total
amount spent?

3. If a pen costs X14.75 and a notebook costs X39.25, what is the total cost?
4. Ravi had X200. He bought a toy car for X125.45. How much balance did he get?
5. Add %24 1/2 and X12 3/4. What is the total in rupees?

E. Challenge yourself with these questions:

1. Add X48.75, X15.50 and %6.25.

2. Subtract X38.40 from X80.

3. You have X5 1/2 and spend X2 3/4. How much is left?
4. Add X10.50 and %4.25, then subtract X3.00.
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. You gave X100 to a shopkeeper for items worth X63.60. How much change
should you get?




